
�����������	�
����
������ �����	�
���	��
��� ��������������� �������������������� �����
!���"��#$�
$!����%�	&����	�
��	'�()*+,-./*(,)�*,�-0*0�/,11.)(/0*(,)2�/,13.*4+�)4*5,+672�8+,*,/,92�:0;4+()<�=/4)0+(,2�>?8@A8�8+,*,/,9�=.(*4B�>C4�D=A�E,-492�A)*4+)4*�C(7*,+;2�7*0)-0+-7�0)-�0-1()(7*+0*(,)F�?,130+(7,)�,G�*C4�D=A�0)-�>?8@A8�+4G4+4)/4�1,-49H��&I�!JK���KI�
'�-0*0�0)-�7(<)097B�0)09,<�0)-�-(<(*092�34+(,-(/�0)09,<�7(<)0972�-(<(*09�7(<)0972�*+0)71(77(,)�(130(+14)*72�-0*0�+0*4�9(1(*2�L.(-4-�*+0)71(77(,)�14-(02�.)<.(-4-�*+0)71(77(,)�14-(0H�������M���� �N���
!���"����K	K��!����KI�
B�4++,+�-4*4/*(,)�0)-�/,++4/*(,)�-47(<)�(77.472�?O?�/,-472�P9414)*0+;�Q0*0�:()6�:0;4+�8+,*,/,972�79(-()<�5()-,5�3+,*,/,972�),(7;�0)-�),(749477�/C0))497H�����	!����
JJ�����
�	�J���'�+0)-,1�0//4772�/,)*+,994-�0//4772�/C0))49(R0*(,)S�T:DUT2�?=ET2����������M����� �V���
!���"�������J	!�W����$!J��'�940+)()<�X+(-<472�730))()<�*+44�X+(-<472�+4340*4+72�C.X72�X+(-<472�75(*/C472�+,.*4+7�0)-�<0*450;72�-4G()(*(,)�,G�1.9*(394Y()<�0)-�*;347H����	��
���KI�
B�Z4*5,+6�:0;4+�Q47(<)�(77.472�7*,+4�0)-�G,+50+-�30/64*�75(*/C()<2�/,))4/*(,)�9477�0)-�/,))4/*(,)�,+(4)*4-�)4*5,+67[+,.*()<�09<,+(*C17[,3*(109(*;�3+()/(3942�/(+/.(*�0)-�30/64*�75(*/C()<2�-4G()(*(,)�,G�G9,,-()<�0)-�1.9*(/07*\���������M��]� �̂���
!���"��O,.*()<�3+,*,/,97B�=C,+*47*�80*C2�O,.*()<�.)([/07*�Q(7*0)/4�_4/*,+�O,.*()<2�OA82�9()6�7*0*4�3+,*,/,972�30*C�̀4/*,+�+,.*()<H���	�
��	��
�!�W'�9,<(/09�0--+477()<2�()*4+)4*�3+,*,/,97S�A8�0--+4772�?AQO2�A8̀a�0--+477()<2�A8̀b�8+,*,/,9�0--+477()<2�0--+47747�1033()<2�A?E82�ALE82�TO82�OTO82�QU?8H������������]� �c���
!���"���
K����
	��
�	�J���'�3+,/477�*,�3+,/477�-49(̀4+;S�dQ82�>?82�>?8�=4+̀(/4�E,-492�>?8�=9(-()<�e()-,52�>?8�?,)<47*(,)�?,)*+,92�/,)<47*(,)�/,)*+,9�0)-�f.09(*;�,G�74+̀(/4H��
���!JK	!����KI�
��A)*+,-./*(,)2�3+,̀(-()<�74+̀(/472�?9(4)*�74+̀4+�1,-492�=*0)-0+-�/9(4)*[74+̀4+�0339(/0*(,)[U>>82�g>82�494/*+,)(/�10(92�>P:ZP>2�QZ=H���h����'��iH�j4C+,.R�TH�g,+,.R0)2�k�K	K�������!JK	!����K�����	��
�!�Wl2�E/L+05�U(99�8.X9(/0*(,)��mH�T)-+45�=�>0)4)X0.12�k�����	�
���	��
��l2�840+7,)�P-./0*(,)���nH�:H�:H�84*4+7,)�0)-�jH�=H�Q0̀(42�k�����	�
���	��
��l2�P974̀(4+H���iH�o0147�gH�p.+,742�pH�eH�O,772�k�����	�
���	��
�!�W'�
����������
��
�KJ&�q�K	�
!�W�	&����	�
��	l2�840+7,)�P-./0*(,)H�� ���


